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30 s5T 7 37 8 1

(vii) NI 37 & ¥¥T G&IT 7 G 18 & F¥T di1-di7 Al & & | FHH I TTHT
50 /gl § 37 &/

(viii) 9FT 37 & Y97 &7 19 T 24 & J97 Gia-9i bl & 8 | 599 I AT
70 37551 7 37 & 1

(ix) W7 § & 597 &1 25 § 33 & 57 JAVICHS HI9cT R STEIRG Tglahed] Jo7
g | Y% J97 UH 3% HT 5 | 130 70 TR f[dHeyl § @ 39FH dIcT U G

fa
3YTH fdHeT AT 3 |

(x) 9§ F Y97 G&IT 34 T 36 F ¥I7 JINIcHF HIvA T TERT 71-31 37H] &
Y97 8 | 59 I AT F 37 8

General Instructions :

(i) The question paper comprises of two Sections, A and B. You are to
attempt both the sections.

(it)  All questions are compulsory.
(iit)  There is no choice in any of the questions.

(iv) All questions of Section A and all questions of Section B are to be
attempted separately.

(v) Question numbers 1 to 3 in Section A are one-mark questions. These are to
be answered in one word or in one sentence.

(vi)  Question numbers 4 to 6 in Section A are two-marks questions. These are
to be answered in about 30 words each.

(vii) Question numbers 7 to 18 in Section A are three-marks questions. These
are to be answered in about 50 words each.

Nurturing Success of Every Child https://deekshalearning.com



oDeeksha

(viit) Question numbers 19 to 24 in Section A are five-marks questions. These
are to be answered in about 70 words each.

(ix) Question numbers 25 to 33 in Section B are multiple choice questions
based on practical skills. Each question is a one-mark question. You are
to select one most appropriate response out of the four provided to you.

(x) Question numbers 34 to 36 in Section B are two-marks questions based on
practical skills. These are to be answered in brief.
T A

SECTION A

1. foreft U8 e Aifiek o1 AW TR ¥ foifge e — OH sehrifeass 99 ? | 1

Write the name and formula of a carbon compound having —OH
functional group.

2.  HJ TSGR [hd aEd & ? fhHl T Tqed BEgIehlad & §F [afEq | 1

What is a saturated hydrocarbon ? Write the formula of any one
saturated hydrocarbon.

3.  ThioHit R I Aferft Iodi 1 Teh-Ush 3TN ST | 1

Give an example each of unisexual and bisexual flowers.

4.  FI¥e yadqd fr8 gd 3 2 39 fafy gro 3 S 9 foeegl @ qien o am
fafem | 2

What is vegetative propagation ? Write the names of any two plants
grown by this method.

5. Tl wem & U suaddie ik fAafd § g hl =@ & 9 gey
fafgu | afe frata & g i = 3 x 108 m/s B, @ 39 TeIm & Fue
TSI A shifod ored JemTsr <Al =TT 14 x 108 m/s B | 2

Write the relationship between absolute refractive index of a medium and
the speed of light in vacuum. If the speed of light in vacuum is

3 x 108 m/s, find the absolute refractive index of the medium in which
light travels with a speed of 14 x 108 m/s.
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FR R Uy 1 SHareHt o9 F AFT ST 8 2 35 ol bl TRy
GId 1 A8 JHET S0 8 2 39 SeA1 o <gd 9 Fehe arelt forel i1 gew tw W
Jm fafey | 2

Why are coal and petroleum considered as fossil fuels ? Why are these not
considered as renewable sources of energy ? Write the name of a green
house gas released on combustion of these fuels.

7. WA I UAATSH A T UGl hiaT Iu=H (SATeredieRtun) SAfHfshan =i 3 2
I TIATA o 3Tt H cgd ¥ forg Yohr T9a 8 2 2 Stfsrfsmanati & qEmfes
Frfertor fafau | S

Why is the conversion of ethanol to ethanoic acid an oxidation reaction ?
How is it different from combustion of ethanol in oxygen ? Write the
chemical equations for both reactions.

8. 3y 3TEd dnvll % Ffeiiad awi W fo=m i :

Be(4); O(8); CI(17); K(19); Ca(20)

(a) 9 9 39 < I gHT W Hhael Teh HAISIhdl Soiaeq & | 39 I &l
Sl fa=me fafEm |

(b) 19 9 Th & G % I ad T AR 310 IR o fI wror i |

(c) T4 9 Th & 3Mad b qf aed T AR 310 IW o I hror i | 3

Consider the following elements of the Modern Periodic Table :
Be(4); O(8); Cl1(17); K(19); Ca(20)

(a)  Select from these an element having only one valence electron.
Write the electronic configuration of this element.

(b)  Select from these, two elements of the same group and state the
reason for your answer.

(c) Select from these, two elements of the same period and state the
reason for your answer.

9. WU 3R fFve % S ot Trse HIRTT | - foRE hEd @ 2 39 ufsha
S T B Tl hegl g aTgehl (Tiel) 1 3ol il | 3
Differentiate between pollination and fertilisation. What is

cross-pollination ? State any two carriers (agents) that carry out this
process.
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10. THal gR1 MY % e e S areft el wm fafeR < g sMmu |
gfe 312 Ueit gRT 3 fferl ol U § 3 UNER o Tareed 3R Use
g T B 9Tt IHTE T F&9 | Ieai@ i |

List any four methods that are adopted by human beings for
contraception. State in brief how the health of a family and prosperity of
a nation is affected, if these methods are adopted either by the husband
or the wife.

11.  “Teor gure) 31er AU gld 3 39 d29 ! ¥+ & fdu ded 3 fE ger
39 TN o qROTHET T gfddred TR 2 989 | sared hifvy |

How did Mendel interpret the results of his experiments to show that
“the traits may be dominant or recessive” ? Explain briefly.

12. 3UIRSd @eavn 3R STafses (I9mTd) v & o fehegl v fadigrentt @wemon
i =N dTfetent o &9 H SAET |

List in tabular form any three distinguishing features between the
acquired traits and the inherited traits.

13. Ffafgd # @ Jos 3@ 1 0 IT-GREThT W Eiaeht, Taad & 99ard

o foRTur & 4 =l ewilsy |
: Nﬁ\\: \ QE

(1) (ii) (iii)

Draw each of the following diagrams on your answer sheet and show the
path of ray after reflection.

S
< T

(1) (ii) (iii)
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14.

15.

16.

17.

His B hEl TH % TN b5 8 80 cm G TE HHeR H Sarall
iciferes sl < % TehTRIS g | 20 cm G T TG T HIshHd AT & 2 |
(a) 39 TrT ThT AT TH TN KT MRT ? TR0 Higd I <N |

(b) () Tora 3R 35k Ulafers & st 1 gt 3 (i) widfora 1 ATaedq 31a
i |
() 38 Yo § yfafars <hi e @i o foru ferror s Eifem |

A student wants to focus the image of a candle flame placed at a distance

of 80 cm from the optical centre of a lens on a screen placed at a distance
of 20 cm from its optical centre.

(a)  What type of lens should he use ? Answer stating reason.

(b)  Find (i) the distance between the object and its image and (ii) the
magnification of the image.

(c) Draw a ray diagram to show the formation of image in this case.

frepegfee QY 91 2 2 S9 QY o Gl RN i g ST | TR0 3@ Eiaet
IUYTh °IE b ITANT G 36oh HINYH shi SRS HIT | 3

What is myopia ? List its two causes. Draw a ray diagram to explain its
correction using an appropriate lens.

Torell w8 forameratTa o1 Ui hifT S eeh g1 Yokt o Wehiv =i TefRia fomam
ST B | 3

Describe an activity that demonstrates the scattering of light.
frafafga < gfee & o svron i . 3

(a) I ITER TA H Holl ol JITE Tehici3Teh Bl & |
(b)  Torelt it © STverceni 1 wewaqul yfiept Bt 2 |

Give reason to justify the following :

(a)  The flow of energy in every food web is unidirectional.

(b)  The decomposers play an important role in an ecosystem.
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18. et fommem o “Sohl F@ie o $9TSl S HUR A I8 Hegy fohan foh omq &=
% At FafEl o “Se-frfenia” ok “sa- e’ w3 &1 geh
T hl STTIIIHAT THAH o Y “Sreshdr AR IA™T SIS & | 38
BET o Y T-F AR AN ohl Toh qoht TG Hel o fadehyul &1 & Hoem
U ohl ATITIHAT 1 Hawe THSITT A1 HST Ui o IIfdNh hal Wl AR
Sl thehdl T THRI QUST o JIae | +ft 32 3TaTTd R |
(a) TR I Gl F YUF Hlh IR IS HE & I AWl hl g

FTT |
(b)  #f\H FAR g faw Tu gt Rt g FT |
(¢  *hoe $aR grr gefdia < e fafew | 3

Mr. Kumar, the incharge of “Eco-Club” of a school felt the need of
organising an “Awareness Campaign” for the residents of the nearby
areas to make them realise the necessity of segregating the biodegradable
and non-biodegradable wastes. He went from door-to-door with his
students and gave arguments to explain the people about the importance
of disposal of their household waste judiciously. He also informed them
about the prosecutional provisions in the cases where garbage is thrown
at places other than the specified bins.

(a)  List two advantages of disposing the waste after segregating it in
two categories.

(b)  List two arguments given by Mr. Kumar.

(c) Write two values exhibited by Mr. Kumar.

19. EF g JEId: TgEdist el g & el o1 fmior e o SR v
ST HIT | 39 3 TIE@ HRON I e hIT AT hTe- gHI HcATIh T
T ANfirent w1 Fwior forr I & o Saeer 8 | a8 ot s HifSe T e g
31l o |y At sifireersr ANfires srfoerr w9 § womft w1 81 2 | 5

Explain the reasons why carbon forms compounds mainly by covalent

bonds. State two main reasons responsible for carbon making a large
number of compounds. Also explain why compounds formed by carbon

with most other elements are exceptionally stable.
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20. (a) YR IHad Al # gl 3 et b wen fife | e Fweft
et g # IR @ 9 I W ] wed # w6 gRad 8T @ 2 gHeh
I ST |

(b) =R Tl A, B, C 3 D & sciaeii-eh fo=amd 1 Jhr 2 -
A-(2,8,7; B-(2,8,1); C-(2,8,2); D-(2,8,8,2)
(1) 30 9 DI-G1 a7 AT ATFHZS ST L =1 2
i) 3™ & form o < T e Twd S § i = 2
(i) 3™ ¥ 9 @ o=@ gHu h waeHhar @A 7 o S
ITI-3Te-E] g Aifieh s 2 | 5

(a)  Write the number of groups and periods in the Modern Periodic
Table. How does the atomic size vary down a group in the periodic
table ? State its reason.

(b)  The electronic configurations of four elements A, B, C and D are as
follows :

A-(2,8,7); B-(2,8,1); C-(2,8,2); D-(2,8,8,2)

(1) Which amongst these elements will form acidic oxide and
why ?

(i1))  Which amongst these elements has the smallest atomic
radius and why ?

(1i1) Out of these select those two elements which have same
valency and form compounds by ionic bonds.

21. 3ot g57 1 FCEA-HIE HT ARG Wiget HHATARG i ATHIhRd HIFT
JUSII, WAITRIS, dfcdept, afdehm, d=q
3T W IS ST Sl YEETHT T Jeeh o1 Ush-Ueh 13 fARgy | 5

Draw a diagram of longitudinal section of a bisexual flower and label the
following :

Ovary, anther, style, stigma, filament

Identify from these the female reproductive organs and state one function
of each.
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HEEl U % fohad SIS B @ 2 39 ° TR Uit o el hl gEd w
8 ? WAl § fohad YR <k folT U UTT S1d @ ? “amat W foRet Fasa g
&1 form am TAm 3 q9n SRl (ATar-far) & @ foret s off gEeh fore Iaerh
& T ST gkt |7 39 Hyd Y gfee femr-freitor Y wfsrn Bt guri aren yarg
A Ei=reht T | 5

How many pairs of chromosomes are present in human beings ? Out of
these, how many are sex-chromosomes ? How many types of
sex-chromosomes are found in human beings ? “The sex of a newborn
child is a matter of chance in human beings and none of the parents
(mother-father) may be considered responsible for it.” Justify this
statement by drawing a flow chart showing the process of
sex-determination.

23. (a) A" edun o Hed § famfafga 4ei Y smwl i wgEdar 9 sawe
shifera

G gd
(i)  dshdl shg
(i) g&T 4

(b) TrefRad sm@ w fomm AT | 390 M *1E edu B, P wis fore @
3 U Ry ST Q SR Ufdferes B

M
P
: TE
(i) YU M TR 1 Iooild hifu |

(i) fq 39 g1 I ®IkE gl H Al AW 15 cm &, A T A
forar <1 gl o1 wiEr e & =nfe 2

(iii) 38 YU § <Uur grr gfdfers -1 e3ie & fou fomeor sma
@it | 5

Q
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(a)  Explain with the help of diagrams the following terms in the

context of spherical mirrors :
1) Pole
(ii))  Centre of curvature

(i1i)  Principal axis

(b)  Consider the following diagram. In this M is a mirror, P is an

object and Q is the image of the object formed by the mirror :

rd
;

) State the type of mirror M.

(i1)  If the numeric value of focal length of the mirror is 15 cm,
what must be the range of distance of the object from the
mirror ?

(iii) Draw a ray diagram to show the formation of image in this
case.

24, o YR o fI&qur Al gyerrer fomr sm@ Wige samen Hife | 39 TRt
WaeH H A fhE YR TR S Wehar ®, 39 AIfhd fohtor @ i
TERT ¥ sy | 5

Draw a ray diagram to explain the dispersion of white light. With the

help of a labelled ray diagram, show how a spectrum of white light may

be recombined.
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SECTION B
25. UHifesh o & TUIEH] 1 TE A AT | 1

(A) -k € A foren® Sl e w
(B) Ty-feh S et fofew® &1 @
(C)  Tg-E®R S el forew™ 1 A S
(D) TU-ER S AT faeHd i e T
Select the correct pair of properties of acetic acid.
(A)  Smell-like vinegar; turns red litmus to blue
(B)  Smell-like vinegar; turns blue litmus to red
(C)  Smell-like orange; turns blue litmus to red
(D)  Smell-like orange; turns red litmus to blue

26. w5 I RN WEeF o I vh-AAE i wEEelt ¥ sygd I fHarar @

3R I8 Y7 S 7 foh el o 1
(A) A I AN WA 5 S0 7 |

(B) The 1GYY ST 7 |

(C) =B faaaa s I g |

(D) TTEH 3R TadH 19 & et Feherd 8 |

A student gently adds distilled water to a test tube filled ith with acetic

acid and observes that

(A)
(B)
(©)
(D)

a separate layer of water is formed in the test tube.
a white precipitate is formed in the test tube.
a clear solution is formed in the test tube.

bubbles of a colourless and odourless gas are released from the test
tube.
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27. P BT AGAIHI-ATTHAT T e Hd U SR § T aeafd ot §
20% NaOH faere faam W a8 Jegor i 2 T 1

(A) iRt I 918l gag 31 7 Il 2 |
(B)  Thsor =p1 U1 U B ST B |
(C) et T il geeeree Bt B |
(D) Rt 1 STedl Hag A Bl I 2 |

A student while studying a saponification-reaction on adding 20% NaOH
solution to a colourless vegetable oil taken in a beaker observes that

(A)  the outer surface of the beaker becomes cold.
(B) the colour of the mixture becomes brown.
(C) there is a brisk effervescence in the beaker.

(D) the outer surface of the beaker becomes hot.

28. I B YEA( gRI Bihiyd s § e § fgaved o ffaRed = w1
J&T0T L TET & | $Heh 9ed § H|E Y& g | 1

C

A) Tegvea &1 mefis =wo

B) fegvea 1 Afam =t

©) T =1 a8 = fmw wifverges fawfsa & @1 8 =g Fgeh T
(D) TgaEvea =1 a8 = e hege faarfoa g1 @1 8 g hifrehrges e

A student observes the following stage of binary fission in Amoeba in a
focussed slide under a microscope. Select the correct observation in this

regard.
(s<e)

(A) First stage of binary fission

(B)  Final stage of binary fission

(C) That stage of binary fission in which the cytoplasm divides but the
nucleus does not

(D) That stage of binary fission in which the nucleus divides but the
cytoplasm does not
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29.

30.

31.

frfafaa & @ s &1 98 sz g, SEe feedt ot e &1 s fGfiewh
SIS % YUT 1 T A o TTC TR ST Fehell 7 |

(A)  Hreell, TS, HE

(B) =T, HE, HFhT

(C) I, W, T

(D) =, T, Hhet
Select from the following a group of seeds, whose any seed may be used to
study the embryo of a dicot seed.

(A)  Ground-nut, Kidney bean, Pea

(B) Gram, Pea, Maize

(C) Maize, Wheat, Kidney bean

(D)  Gram, Wheat, Ground-nut

frfafaa 4 @ gugfa (awew) o w1 Ira g | 1
(&)l i wlg % o

(B) ¥gHl 3R JACAA=I o UIG

(C) ufewi 3R Aal 6 91g

(D) UfeRl 3R IwEsi o 9@

Select the pair of analogous organs from the following.
(A) Limbs of birds and reptiles

(B)  Limbs of reptiles and amphibians

(C)  Limbs of birds and human beings

(D)  Wings of birds and bats

aﬁmwa&wmﬁmﬁqm%m,ﬁaﬁa@%z%ﬂ%m
H 7, a I Sfafers 6l Al hEt BT =R 2 1
D q

@a X ® X
© P< o <
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If you focus a distant object of the shape using a concave mirror, the
image obtained must be of the shape
D d

@ X ® [
© P o B

d D

32. Tmfafea # ¥ fora M@l § suad o R fold o =61 qod & fog
VY (D) <l Tl & § &1 T 8 2 1

o N NI
H. T X

I II III v
A LI
B) LIV
(C) I, 1III
(D) IL IV

In which of the following diagrams has the protractor (D) been correctly
placed to measure the angle of incidence and the angle of emergence ?

NN
T X

X

II III v
A L 1III
B LIV
(C) II,1III
(D) IL IV
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33. Tfaflad o & forg oM@ ¥ 19 & 5w @ o arell fopelt Jehrer fohtor &1

Y H& Y 9 AT =T B 2
A 1

B 1II

(C) III

D) IV

In which of the following diagrams is the path of a ray of light passing
through a glass prism shown correctly ?

X B ALY

A I
(B II
(C) III
(D) 1Iv

34, fafafiga forwor sm@ =1 s1eweA hifvie 3 38 died 999 99 g il TS
=gl @ 3ol w1 e Aifse | 7 3t B o ek fora Y feufa & aegew
gfafers &t aredfass feafa o1 g & foe g8 e sm difue | 2

F2 2F2
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35.

36.

Study the following ray diagram and state any two mistakes committed
by the student while tracing it. Rectify these mistakes and draw the
correct ray diagram to show the real position of the image corresponding
to the position of the object.

\4

3G 99 AT F1 YU HLd & T9 A9 THIfH o il S ¢ 39 Wael §
forema & e w2

(A)  3Tgd A ?

(B) T fotend faetam 2

(C) ren forena foerm 2

(D) ETEEH g ?

What do you observe when you pour a few drops of acetic acid to a test
tube containing

(A) Distilled water ?
(B) Red litmus solution ?

(C)  Blue litmus solution ?

(D)  Universal indicator ?

free d gper H Uk 1 e 3@ ufka & faftm =won % w@ft e o
AHIfRd TR Eieht ST |

Explain the process of budding in yeast by drawing labelled diagrams of
different stages of the process in a correct sequence.
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